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B. A. (HONOURS) ECONOMICS
(BAECH)

Term-End Examination

June, 2024

BECC-109 : INTERMEDIATE
MACROECONOMICS-II

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Sections as per

the instructions.

Section—A

Note : Answer any two questions from this Section

in about 500 words each. 2x20=40

1. Explain the Harrod-Domar Model. What are
the implications of the assumptions of this
model ? how does population growth affect the

Harrod-Domar equation ?

P.T.O.
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2. Discuss the A. K. Model. What determines the
growth rate of output in the A. K. Model ?

3. Explain the Fisher’s Intertemporal Choice

Theory of consumption in a two-period model.

4. Discuss the  Baumol-Tobin  Model of
transactions demand for money. How the
optimum number of transactions are decided as

per this model ?
Section—B

Note : Answer any four questions from this Section

in about 250 words each. 4x12=48

5. Discuss Schumpeter’s innovation theory of

business cycle.

6. Explain how the Permanent Income Hypothesis

resolves the consumption puzzle.

7. Inventory is vital for the firms as well as for the
economy as a whole. Bring out the concept and

importance of inventory investment.

8. Bring out the features of Residential

investment model. What are its implications ?



10.

11.
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Discuss the fiscal sustainability through
government budget constraint and debt

stabilisation.

Outline the salient features of New Classical
Theory. How does the real business cycle model

work as per new classical economics ?

Give a brief account of business cycle

indicators.

Section—C

Note : Write short notes on any two of the following

12.

in about 100 words each. 2x6=12

Implications of the Solow Model

(a) Implications of the Solow Model

(b) Phases of business cycle

(¢) Limitations of Life Cycle Hypothesis

(d) Automatic Stabilisers

P.T.O.
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